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fPNo fhl;lg;gl;Ls;s gapw;rpfisr; nra;tjw;fhf myF 05 ml;ruf; fzpjf; Nfhitfs; vDk; 
ghlg;gug;gpd; kPJ ftdj;ijr; nrYj;jTk;. 

(fPOs;s tpdhf;fSf;F tpilaspg;gjw;F Kd; ghlg;Gj;jfk; gFjp I ,y; gf;fk;60 – 62 
tiuapyhd tpsf;fj;jpidg; ghu;f;fTk;.) 

 

01. filnahd;wpy; 1kg muprpahdJ &x  ,w;Fk;> Njq;fha; 1 MdJ &y ,w;Fk; 

rd;iyl; rtu;f;fhuk; xd;W z ,w;Fk; tpw;gid nra;ag;gLfpd;wJ vdpd;> 
gpd;tUtdtw;wpw;fhd ml;ruf; fzpjf; Nfhitfis cUthf;Ff. 

I. 2kg muprp> Njq;fha; xd;W> rd;iyl; rtu;f;fhuk; ,uz;L vd;gtw;wpw;fhd 
tpiy ahJ? 

II. 2 Njq;fha;fs;> 5kg muprp kw;Wk; 6 rd;iyl; fl;bfs; vd;gtw;wpw;fhd tpiy 
ahJ? 

III. 1kg muprp kw;Wk; miuf;fl;b rd;iyl; thq;fpa gpd; fky; & m ,id 
filf;fhuuplk; nfhLf;fpd;whu; vdpd;> fkYf;F fpilf;Fk; kPjpg;gzk; ahJ? 

 

(fPOs;s tpdhf;fSf;F tpilaspg;gjw;F Kd; ghlg;Gj;jfk; gFjp I ,y; gf;fk; 64 – 67 
tiuapyhd tpsf;fj;jpidg; ghu;f;fTk;.) 
02. milg;G ePf;fpr; RUf;Ff. 

I. 3(x+2)                                   II.  5(y+5)                             III.  4(m – 5) 

IV. 6(k -6)                                V.  4(2m +8)                         VI. -4(3x+7) 

VII. 6(2c -2)                         VIII. - 3(4d -6)                           IX.- 6(2b+3a) 

X. 5(5k – 3j)                           XI.  -3( a + b +c)                    XII. - 5(2k + 5l + 3m) 

XIII. 6(5p – 6q + 3r)             XIV. -3(3a + 7r – 6)                XV.  -9(3q - 8 – 6m) 

(fPOs;s tpdhf;fSf;F tpilaspg;gjw;F Kd; ghlg;Gj;jfk; gFjp I ,y; gf;fk; 69 – 70 
tiuapyhd tpsf;fj;jpidg; ghu;f;fTk;.) 

03.  RUf;Ff. 

I. a × 3b                                    II. 5a × b                              III. 6m × 5n 

IV. -2a × 5x                             V. 8p × - 4q                          VI. -3x × 8y 

VII. -2a × -8b                      VIII. -5m × -6n                         IX. 5x × -6ab 

X. 6p × -m                              XI. (-6ab) × (-3b)                  XII. 4mn × (-ab) × 3abn 
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04.  RUf;Ff. 

I. 2a(3b +5)                             II. 4x( 5y +5)                         III. 3m(5x -6) 

IV. 7k(5l-6)                             V. 6m(-5n + 3)                      VI. 8p( -8p + 3) 

VII. (-6m)(2a + 8)               VIII. (-3a)(-2b – 5)                   IX. (-2c)(2p – 4q) 

X. 8r(ab +3q)                         XI. (-7a)( -j + 3pqr)               XII. (-2a)(-2mn – 3pq) 

(fPOs;s tpdhf;fSf;F tpilaspg;gjw;F Kd; ghlg;Gj;jfk; gFjp I ,y; gf;fk; 71 – 73 
tiuapyhd tpsf;fj;jpidg; ghu;f;fTk;.) 

05. RUf;Ff. 

     I .(3a+5)+(2a +6)                                                   II. (5p – 4) + (6p +7)   

   III. (6m +4) + (3m +5n)                                          IV. 2(3p – 6) + (2p + 9)    

    V. -3(2a + 3b) + (8a + 12b)                                   VI. (5k – 6l) + -3(4k + 5l) 

 VII. 3(5f + 9) + 4( 3f + 4b)                                    VIII. 5(6b + 4c) – (4b +5)     

IX. 3(6m – 8) – 5(m – 9)                                             X. 9(8x – 3y) – 3(-2x – 3y)     

XI. -3x(2a – 3b) – 5a(3x + 9b)                                 XII. 2a(3a + 8) + 5b(6b -2) 

XIII. -8x(3x + 5y) – 2x( 4y – 6x)                           XIV. -6c(3a + 4c) – 3(8a – 3c)  

 XV. -2(2b +3c) + (b +c)                                        XVI. 5v(-9v – 4z +7) – 3z(5v – 8v -9) 

(fPOs;s tpdhf;fSf;F tpilaspg;gjw;F Kd; ghlg;Gj;jfk; gFjp I ,y; gf;fk; 74 – 76 
tiuapyhd tpsf;fj;jpidg; ghu;f;fTk;.) 

06.  a = 3  , b = 2   c = 5 MfTs;s NghJ gpd;tUk; ml;ruf;fzpjf; Nfhitfspd; 

ngWkhdq;fisf; fhz;f. 

I. a + b +c                             II. a+c-b                          III. 2a + 3b + 4c 

IV. 6a + 2b -3c                     V. 10c – 3a – 5b              VI. 2(3a – 2b + c) 

07.  p = 6 , q = -3 , r = 9 MfTs;s NghJ gpd;tUk; ml;ruf; fzpjf; Nfhitfspd; 

ngWkhdq;fisf; fhz;f. 

I. 3p + 2q +r                         II. 2( p +q -2r)                 III. 5p – 6q +9 

IV. 5(3p – 2r +5q)               V. p +3r +10                    VI. 5(p +2q +9) + (2p-3q +r) 

08.  x= -6  , y = -7  ,   z = -4   MfTs;s NghJ gpd;tUk; ml;ruf; fzpjf; Nfhitfspd; 

ngWkhdq;fisf; fhz;f. 

I. 2( 2x + 3y +9)                  II. 3y – 4z +6x                            III. 10z +4x+7y 

IV. 5(-3x -6y -2z)                V. (5x +9+ 3y) + (2x – 7+5z)    VI. z(3x + 5y – 2z) 


